4 3 v 2 1

UP_TO 22'-2" WIDE X 18’-0" HIGH REVISIONS
REV. NO.| ZONE: DATE: .| APPVD: DESCRIPTION
HORIZONTAL TRACK SUPPORT BY MODELS AVAILABLE (CLOPAY/ HOLMES/ IDEAL ECN NO SC
DOOR INSTALLER (TO SU) MODELS 524, 520/ 224/ C4ST, COST 01 - |07/07/05| ER1083 SH UPDATED CODE REFERENCES
= = = INSULATED MODELS 524S, 520S, 524V/ 224S/ C4SS, COSS, C4SV 02 - 11/2008 - - ADDED MPC; UPDATED JAMB ATTACHMENT.
“ 1 OVERLAP 03 - 02/2012 - - UPDATED WINDCODE CHART
3" GALV. TAPERED STEEl__ TRACK AND ANGLE, " (EACH SIDE) | [ OPTIONAL STOP MOULDING BY /
TRACK THICKNESS: .1017. ANGLE THICKNESS: .080 DOOR INSTALLER (¢TO SUIT).
. 16 GA. MIN. GALV. STEEL (END)> STILE FASTENED
N XEEI;'%'N/_H%!)Z%%L g }‘éou"ﬁ‘,{g#’“ﬂﬁ%‘{l‘g TO DOOR SKIN WITH TOG-L-LOC SYSTEM.
& & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION
W 0 0 . " . 0
g T 18 GA. MIN. GALV. STEEL (INTERMEDIATE) STILE 37 TALL x 20 GA. GALV. STEEL (MIN. YIELD
o« \ ADDITIONAL MOUNTING SLOTS REQUIRED FOR DOORS [ FASTENED TO DOOR SKIN WITH TOG-L-LOC SYSTEM. ?LEE%;HDEUQ&UggéﬁnﬁTTEg%HHEﬂ_%':ER AT
o OVER 7°0" HIGH SPACED AT 12" CENTERS.
g .l y | ATTACHED WITH (2) 1/4°x3/4’ SELF TAPPING
_ SCREWS PER STILE LOCATION.
' TRACK CONFIGURATION SECTION B-B
T ONE /" TRACK BOLT AND NUT
(O N
o P o, MOUNTING SLOT SEE JAMB 14 GA. GALV. STEEL (CENTER) HINGE. ¢SEE VIEW “B"
ATTACHMENT i ADJUSTABLE TOP ROLLER BRACKET OF 12 GA.
% ¥ ILLUSTRATIONS 7716”7 PUSHNUT INSTALLED ON ROLLER SHAFT SECTIONS ARE 1-7/8° THK GALV. STEEL, INSTALLED ON DOOR WITH ¢4)
e #14x5/8" SHEET METAL SCREWS AND TRACK 14 GA. GALV. STEEL CEND) HINGE. (SEE VIEW ‘A% PANELS ROLL FORMED OF .022¢ #14 X 5/8' LG SHEET METAL SCREWS. ¢ 2
o} DETAILS. MIN. HOT DIPPED G-40 BRACKETS PER SIDE)
3’ STEEL LONG STEM ROLLER . GALVANIZING, ROLL FORMED
[ 1/4"3/4" SELF OPTIONAL ALUMINUM FULL VISION WINDOW LITE 6" C—CHANNEL STEEL. o 6”
EVERY 12 TAPPING SCREWS. SECTIONS AVAILABLE (1/8" DSB OR 1/8" TS PTIONAL INSULATIN VIEW C"
| o \o 0 ACRYLIC). FULL VISION SECTIONS TO HAVE IR (SEE MODEL EX"L“"““”""\ 6” TALL C—CHANNEL
. 14 GA. DOUBLE END HING SAME REINFORCEMENT AS OTHER SECTIONS 16 GA. GALV. STEEL "
T° ATTACH ON EACH HINGE AS SHowN . --+—CA- INTERMEDIATE HING EXCEPT AS NOTED. VIEW "E MIN YIELD STRENGTH SOKSi —2-1/2
I (4) $14 X 5/8° LG. SHT, MTL, SCREWS ATTACH ON EACH HINGE AS SHOWN OPTIONAL ACRYLIC GLAZING IS PLASKOLITE ATTACH THE 6° x 2—1/4"% 12 GA. STEEL -
"""" id . AND (2) 1/4°x3/4' SELF-TAPPING SCREVS. WITH (4 1/4" X 5/8'SHEET METAL SCREVS OPTIX, AN APPROVED CLASS CC2 PLASTIC IN X /47 : 5/ 8"—| |—
3-1/2 vl b COMPLIANCE WITH FBC 7 IBC 2606 REINFORCING PLATE TO THE UNDERSIDE OF THE
VIEW A VIEW B FOR CLARIT/Y RIBS NOT C—CHANNEL WITH (4) 1/4"x3/4" SELF TAPPING
ADJUSTABLE TOP SCREWS AT THESE (3) LOCATIONS. (1) 6"x16 GA. C—CHANNEL PER DOOR
ROLLER BRACKETS SHOWN ON BACK VIEW Po==A L— SECTION. (1) 1/4°x3/4" SELF TAPPING
I /n
SCREW PER STILE LOCATION. (SEE VIEW "C”)
\as |NUMBER OF DOOR INSIDE_SLIDE BOLT 7 7 y p =\
DOOR HEIGHT A’ |'SEC NS HEIGHT | "L” 7 7 4 7 7 # 7 7 7 - \—U-BAR SEE SECTION
807 2 8—0"| 88" SLIDE BOLT LOCK A—A FOR DETAILS
. Y 9'—0” [100” ENGAGES INTO VERTICAL » » e
1%,_%, TT||:I|RRLLJJ 11%_% 2 o —0"T112" TRACK. ONE LOCK ON C—CHANNEL. SEE 5 6" X 2-%4” X 12GA. STEEL PLATE. SEE VIEW "E
- —_ge 2"—0"|136" EACH SIDE OF DOOR. SECTION A-A o
12'-3* THRU 14'-0 7 =0 1136 FOR DETAILS
14/-3* THRU 16'-0” 8 1‘;5,—% i 11;%,, ’
16’-3" THRU 18°-0” 9 — 4 I END HINGES OF MIN, 14 GA, GALV.
6 —07184" TWO POINT . e
51:8 ; gg: (MlN)Rléch:JlI(Rnég ® ) gIE'ELI:GI.:ASSHTTFNE'PL.wéEHREwg an X
. B 6" C—CHANNEL STRAP; _—T SCREWS. QTY-2 HINGES PER SIDE
THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE i (7) STRAPS PER
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE i SECTION. OPTIONAL
OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE B FULL VISION SECTIONS
IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS HAVE (9) STRAPS PER 1-1/4*WIDE X 16 GA. GALV. STRAP,
REGIONS (FBC / IBC CHAPTER 16). U / A SECTION. EACH STRAP ATTACHED WITH (3) 1/4* X
- - 3/4" SELF TAPPING SCREWS. TwO
3" ROLLER CARRIER (3 ¢5) CENTER HINGES PER SECTION 22| Tvp. SCREWS TO DOOR, ONE SCREW TO
PART # 0120394. 22'—-2" MAX C-CHANNEL.
MOUNgEI‘f{__'T'BR?LTJNg THIS DOOR MEETS OR EXCEEDS THE DESIGN LOADS FOR THE
3/16" MIN. WAY BE BACK— SCREWS AS_ SHOWN ULTIMATE WIND SPEEDS LISTED BELOW ACCORDING TO THE FLORIDA
STEEL JAMB | / FILLED WITH NOTE: BUILDING CODE OR THE INTERNATIONAL BUILDING CODE (BASED ON
NOT REQUIRED. CENTER STILES ALWAYS 22" FROM CENTER ASCE7-10) FOR THE FOLLOWING CONDITIONS: 1) ENCLOSED BOTTOM ROLLER BRACKET OF 12 GA. MIN.
TO CENTER. FOR ANY GIVEN DOOR WIDTH, BUILDING, 2) DOOR HAS 2’ OF WIDTH IN BUILDING’S END ZONE, 3) GALV. STEEL, FASTENED WITH ¢4) #14 X
Ve éfo"‘issoxx DIMENSION B’ THIS DIMENSION WILL NOT BE ANY /ROOF SLOPE, AND 4) TESTING IN ACCORDANCE WITH 5/87 LG SHT. MTL. SCREWS
MARK WESTERFIELD, P.E. GREATER THAN 40” OR LESS THAN 18" ANSI/DASMA 108. SITE—-SPECIFIC CALCULATIONS BY A QUALIFIED
ELECTRODE MIN.). WELD :
B?q aﬁeﬂc&}'zgi\!mﬂmm STEEL JAMBS E'ao'g%f fpf'zE:iagg' #&'fg'F_E_ #1513 DESIGN PROFESSIONAL MAY DIFFER. ), ?E;;EEE%Eﬁ[ﬁﬂNEﬁn\gqr%%%?ﬂxIL?TH
CENTER AND_1/4" TACK * 1% CONTINLOUS. ANGLE ULTIMATE WIND 140 145 1%0 160 175 J=~ ——  INTEGRAL RETAINER FOR FLEXIBLE VINYL
SAME SPACING. MOUNT TRACK FASTENED | ANCHOR NOTE: FIRST (BOTFOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM SPEED (MPH) ASTRAGAL
DIRECTLY 70 STEEL JAMB| ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING.
WOOD JAMB ON_CONCRETE CONCRETE JAMBS WOOD JAMBS EXPOSURE
2,000 PSI MIN 2,000 PSI MIN STEEL JAM "S CATEGORY il e > c 5 c 5 SECT'ON A_A (SlDE VlEW)
ONCR CONCRETE g M ST ElBeD LAG soREw DESIGN LOADS: +30 & —30 P.S.F. MANUFACTURING PRODUCT CODE:
. . . " MEAN ROOF HEIGHT| 25 15/ 25 15’ 30’ : - -S.F.
3/8" DIA. x 1-1/2" EMBED . . 1/4"x3/4" 1—_1'/8 WASHER REQ'D) . _ : —_ —
W‘éﬁ'ﬁ&'&%’.‘m“ 156‘6 E>‘[1>_S1E/|_2F—1MA’;'P|NG %%Bgﬁéggﬁ?%ﬁ? SéLFxTﬁPP,I_NG ggcunaex.z ,%congD TEST LOADS: +45 & —45 P.S.F. MPC: C-PAN-1E448
11° MAX. O.C. CONCRETE ANCHOR. NOT REQUIRED FOR . JAMB_TO WOOD Unless Stated Otherwise uke Boulevar CLOPAY WINDLOAD RATING
J Y SELF TAPPING SCREW. hs‘?;Evgés STRUCTURE. 8585 Duke Boul d
L B MY, e : To Seclfe SN I Nezoe. TOLERANCES or |y WOPAY Y% 31545904800 W5
C'SINK IF° NEEDED. URE r Hy o
3* MIN. EDGE DIST. L ggg%ﬁEET‘E‘_"GLE STEEL JAMB. Eﬁjﬁﬁﬁi%@gﬁ&wuw CLOPAY CORP. .0 = +.031 Building Products Company Fax No. 513-770-4853
/ 3 MIN. EDGE DIST. oF THE BuLDING ENaneer ok | AL RIGHTS RESERVED. 00 = +.015 | DESCRIPTION: COMMERCIAL RIBBED DOOR, +30/—30 PSF DESIGN LOAD
S T % L MO o ARCHTECT OF FREco: oo = 130> IDRAWN BY: RK DATE: 11,/02/04 SCALE: NONE
ﬁﬁﬂﬁ?ﬁ'ﬂyﬂuﬁ‘f’c m VERSE OR CONTINUOUS SE1TER YELLOW PRE JAMS WTI De-gr?egg = i1(')/021 - : 11/02/ - SDIV%KE;
X1— 3 RE! REVERSE OR CONTINUOUS ONE 5/16"x1-5/8" LG. LAG = . PO
COORTION © TTACK CLP T TRACK ANGLE MOUNT TRACK 5325‘1'1{)?:; ok G Third Angle Uniose Statad Offeruice CHECKED BY: Mww DATE: SHEET 1 OF 1
' TO CONCRETE. 70 STEEL Ve ] Projection DIMENSIONS ARE IN INCHES.| DWG. NO.: 103319 VER: IBC
FLORIDA PRODUCT APPROVAL 5678




